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Wilcoxon signed rank test with continuity correction

data: BX and AX
V = 20.5, p-value = 0.5073
alternative hypothesis: true mu is not equal to O
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/ it12-1.R ™\
data(airquality)
attach(airquality)
res <- 1m(Ozone ~ Solar.R+Wind+Temp)
VIF <- function(X) { 1/(1-summary(X)$r.squared) }
VIF(1m(Solar.R ~ Wind+Temp))
VIF(Im(Wind ~ Solar.R+Temp))
VIF(1lm(Temp ~ Solar.R+Wind))
summary (res)

detach(airquality)

J
30000000 VIFOOOO 100ooooooooooooooooooooooo
O00Osummary(res) 00 0000000000000 0O0O0DD0OOO0OOD S%000000
oo0obo0oboobboobooobuooboboooboooDbooboooDboobboon
Adjusted R-squared0 000000000000 0ODOOOO0ODOODOOCOODOOCODOODOOO
00030000000000000000 60%000000000000

\
Call:
Im(formula = Ozone ~ Solar.R + Wind + Temp)
Residuals:
Min 1Q Median 3Q Max
-40.485 -14.219 -3.551 10.097 95.619
Coefficients:
Estimate Std. Error t value Pr(>[t])
(Intercept) -64.34208 23.05472 -2.791 0.00623 **
Solar.R 0.05982 0.02319 2.580 0.01124 *
Wind -3.33359 0.65441 -5.094 1.52e-06 **x
Temp 1.65209 0.25353 6.516 2.42e-09 **x
Signif. codes: O ‘**x’ 0.001 ‘**’ 0.01 ‘x’> 0.056 “.” 0.1 ¢ *> 1
Residual standard error: 21.18 on 107 degrees of freedom
Multiple R-Squared: 0.6059, Adjusted R-squared: 0.5948
F-statistic: 54.83 on 3 and 107 DF, p-value: < 2.2e-16
o /
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gobooobobodbwindODOOODODOOODODOOODOOOODODOODOODLDOOODO
plot(residuals(res) “res$model$Wind) 00D DD O DODOODOOOODOODOOODOODOO
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00000000000 predict)O 0000000000 ODO0OODOO WindOOOODODOOO
09%%00000000000000000000000000000O000O00O0OO0OOO0
UobobooobobbOwindDOUOUODOOzoneJOOOOOo4OOooooooooobooooooO
000000000000000000000 9%%000000000000000000O0O0O0
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data(airquality)

attach(airquality)

res <- 1m(0Ozone ~ Solar.R+Wind+Temp)
EW <- seq(min(Wind) ,max(Wind) ,len=100)
ES <- rep(mean(Solar.R,na.rm=T),100)
ET <- rep(mean(Temp,na.rm=T),100)
Ozone.EWC <- predict(res,list(Wind=EW,Solar.R=ES,Temp=ET),interval="conf")
plot (0zone~Wind)
lines(EW,0Ozone.EWC[,1],1ty=1)
lines(EW,0Ozone.EWC[,2],1ty=2)

lines (EW,0zone.EWC[,3],1ty=2)
detach(airquality)
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data(airquality)

attach(airquality)

res.3 <- 1lm(Ozone ~ Solar.R+Wind+Temp)
res.2 <- 1m(Ozone ~ Solar.R+Wind)

lambda <- -2*(logLik(res.2)-logLik(res.3))
1-pchisq(lambda,1)

detach(airquality)
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00000000 00ooO00o0oLO0000On0O00O0O0O0ODOOODODO

AIC=-2InL+2n

O00000AICO000000000000000000000
O0OORDOOOAICOODOODOO extractAICO OD0DO 200000000000 “Akaike’s
An Information Criterion” 000000 MM OO “The (generalized) Akaike *A*n *I*nformation
*C*riterion for a fitted parametric model” 00000 0000000000000000OOOO
extractAICOO O MASSOOOUOODOOOOOOOUOODOOO S40000000000000000
O0000000000000000 stepO OO0O0OO0OOO0O0OOOOODOOOOOODOOO
000000200000000000 AICOD0OOOOOAIC(res.3) 00000

-2xlogLlik(res.3)+2*attr(loglik(res.3),"df")

0000 998.7 000 0extractAIC(res.3) 0O 0O 681.70000res.2000000000
AIC(res.2) O 1033.80 extractAIC(res.2) 0 716.8 0000

0000000000 300000000 AICO000000000000000oOoo0oo0oo
0000000000000 00000000000000 AICOO000 AICOODOOOO0
0000000000000 00000000000000D0000000000 extractAIC()
oo step()DDDDDDDDDDDDDDDDDDD*GD
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dooooooooo 800000000000000000000000000000000AICO 00O
—2InL+200L00000060000000000000000000O000DOO0O00ODOOOOODOOOOOO
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000000000000 000000000000000000o0O0 AICOOO0
0000000000000 0000O0O0DDoOOoODoOOo0DDoDoDOoo0DD0Do000a0
0 Ostep(1lm(0zone~Wind+Solar.R+Temp)) O O O 0O step() DO OO OOOODOOO
0000000000000 D00D0D0D0D0O00 (direction="forward")JDO OO O O
(direction="backward")J O OO OO (direction="both") 0O OO OODDODOODOOODO
O0Odirection="backward"O0 OO OOOO0OODOO0OODOOOOODOOOODOOOODODOOO
step() 0000000000000 0000O0O0O00O0O0O00000000O0O step(O) 0000
UO000direction 000000000 OOO0DOO0OO

O0000000Oress <- step(1lm(0zone~Solar.R+Wind+Temp)) 0O OO0 0300000
000000000 AICOO0DO0 6820000000000000000000000 ressOO
0000000000000 AICDO step() DO0OOO0O0OOO extractAICO UOOOODOOO
00000000 AICO0000000000000000000 AlC(ress) JOOOOOO
O000m(O 0000000000000 OO 1110000000 Ozoned Solar ROOOOO
00000 AIC(ress)-111x(1+log(2+pi))-20 0000000 681.7127 000000000
stepOU0OO0O0DOOODOOODOODOODOOODOODOODOODOODODOODOOOOODOOD
gooboboboboboboboboboboboboboobobobobobobobobobobobobobobobbbbbbbobobbobn
ooo
(it12—4.R ~

data(airquality)

attach(airquality)

res <- 1m(0Ozone~Solar.R+Wind+Temp)
ress <- step(res)

summary (ress)

AIC(ress)
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gbooboobogobooobbuoobbooboooobuoooboboobooobooobooboo
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0000000000000 000 5%00000000000000000000000000

DDDDDDD[EIeXtractAIC()DD[I[IEIEIEIEIEII:II:II:IDDDDDDDDnln(02)+2pDDDDDDDDD
000000O n(l4+In(27))4+20000000000000000000000000000OOOOODOOOO
gbooobooooooobooobooooboooboooooo

*TR-help 00000000000 ODS-plus 00 step.glm() 000000000000 DOROOOOOOOOO
googooao
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n—1000000000000000000000O0O0OOOOOOM.G.O0O0OOOODOOOD
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00000000000 0000000000 D00OD Cres<-1m(0zone~Solar.R+Wind+Temp)
gbobooobogoboobboobobooboobobuoobbooboooboon

it12-5.R

predict(res, list(Solar.R=mean(res$model$Solar.R),
Wind=mean (res$model$Wind), Temp=mean(res$model$Temp))

00000bO00o0ooO0o0ooDbO0o0oDbOo0bObOO0o0obOo00o0obOO0o0oD0DbOOo0obODoOoOoOooDoOon
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0000000000000000000000000000*0

it12-6.R

resmr <- nls(Ozone ~ a*exp(-b*Wind) + c*Solar.R, start=1list(a=200,b=0.2,c=1))

summary (resmr)
AIC(resmr)

*8 http://aoki2.si.gunma-u.ac.jp/R/A11l_possible_subset_selection.html D0JOO0OOO0O00OOOO
000000000 ROOODODOOOOOODO
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SRM <- mean(subset(Solar.R,!is.na(0zone)&!is.na(Solar.R)&!is.na(Wind)&!is.na(Temp)))
predict (resmr,list(Wind=25,Solar.R=SRM))
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000O0000000000000000000O0OO000000000O0O00OOO0O0000
O0ooOooooooon

*10 web OO it12-6RO000000000O0O0O
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rl]l]?) ~
0800000000 ROOCOODOOD ToothGrowthOOODO 10000O0COOOCOO
30000000000 COU0DooUOoooUOoooUOoooUooooooooooOd
gooboopobooboboobboobbo0obbo0bibdl lenD 0O 0Osuppd 0 d
O0doeseUDOOO0OOOSUIUOOOOUODUODOODOODODODODUODObDODOOOOO
gobooboooboobobooboboobooobuooobooboooboon

J
goobooboboooboooboooboobboob0ooobooboboobDboUobboOon

0000000000000 O0*'0000000000000000000000000000

0000000000000 0D000000000Ocoplot(len™dose | supp) OOODODO 20

0ooooooooooooboooboooooooog

Kit12—7.R ~
data(ToothGrowth)

attach(ToothGrowth)
plot(dose,len,pch=as.integer (supp),ylim=c(0,35))

legend(max(dose)-0.5,min(len)+1,levels (supp) ,pch=c(1,2))
abline(1lml <- 1m(len[supp==’VC’]~dose[supp=="VC’]))
abline(1m2 <- 1m(len[supp==’0J’]"dose[supp=="0J’]1),1ty=2)
summary (1m1)

summary (1m2)

J
summary(1m1) 0 summary(1lm2) OO0 00000000 O0OOOOOOCOOOOOOCOOOOO

goobooboooboobboobbooboooboooboobboobooobooboo

gbooooboobboobboooboooboon

1m3 <- 1m(len ~ supp*dose)
summary (1m3)

googn

*1l webOO it12-7RO000D0D0000000000O
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4 I

Call:

Im(formula = len

supp * dose)

Residuals:
Min 1Q Median 3Q Max
-8.22643 -2.84625 0.05036 2.28929 7.93857

Coefficients:
Estimate Std. Error t value Pr(>|tl)
(Intercept) 11.550 1.581  7.304 1.09e-09 **x%
suppVC -8.255 2.236 -3.691 0.000507 *x**
dose 7.811 1.195 6.534 2.03e-08 **x*
suppVC:dose 3.904 1.691 2.309 0.024631 *
Signif. codes: O ‘%%’ 0.001 ‘**’ 0.01 ‘x> 0.05 ‘.’ 0.1 ¢ > 1

Residual standard error: 4.083 on 56 degrees of freedom
Multiple R-Squared: 0.7296, Adjusted R-squared: 0.7151
F-statistic: 50.36 on 3 and 56 DF, p-value: 6.521e-16

\_ %
U0o000b00bbo0bO00bibOdsuppVC:dose 0 UO0OMO lenJ OO OO0OOOODODOO
0000000000000000000 0.024631 0000000000 5% 00000000
goodooobbobobodooogoooboooooooob b booooooobobbooooo
0ooooooooobobooobboobobooddooooooooooooooooooooo
oooooooooobooOd
(f-D 04 ~N
http://phi.med.gunma-u.ac.jp/medstat/samplel.dat 00 000000000000
dodooobobobbbtbdd0d0UUUUbDPREFOOOOUOUUOREGIONUOOOOO
OOOOCAR1I9900 199000 1000000000000 ODOOOTA1989 0O 198900001
100000000000D000DIDP198s 0 198 000000000 OoDOoDOOoOOoomag
oo ooobobobobbb dat00ddoooooon

dat <- read.delim("http://phi.med.gunma-u.ac.jp/medstat/samplel.dat")
attach(dat)

goboodbobooboobbooboobbooboobboobboooboobooobo
gobooboboobboobboooboobboooobooboobboboobbooobobo
oooboobboobooboboooboboobboooboooboooo

J

U0 REGIONUI 0O O0OO0OO0OO0OOOoooooobbbbbbbbbboboooobbobbDbDD
00000000 p-valued 5.72e-050 00000 0.00267 00000 5%000000000
gooooboboooboooboobuo 200b0o0oob00oOoboboOoLobUoooDbUoboDboOoon
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0O OREGIONWest:CAR1990 [0 p-value O 0.990 000000000 OOO0OOOOODODOOO
O0O0OO0O0O0O0OO0O0O0OO0OOREGIONWest D00 O0O0ODOOOOODO 0.031900005%0000
0o00odooobooooobooooboooooooooooooooooooooooooa
0000000000000 000000000D0000000D0O0O0web 00O it12-8R OO0
ooooooooooboOd
(it12-8.R ~
plot (CAR1990,TA1989,pch=as.integer (REGION) )
legend (max (CAR1990)-10,min(TA1989)+1,1levels (REGION) ,pch=c(1,2))
abline(lml <- 1m(TA1989[REGION==’East’]~CAR1990[REGION=="East’]))

abline(1m2 <- 1m(TA1989[REGION==’West’] “CAR1990 [REGION=="West’]),lty=2)
summary (1m1)

summary (1m2)
1m3 <- 1m(TA1989 ~ REGION*CAR1990)
summary (1m3)
1m4 <- 1m(TA1989 ~ REGION+CAR1990)
summary (1m4)

gououododogn

000000000000 000000000000000000000000000000
000000000000 0000000000 glm() 0000

0000000000000 000000000000000000000000000000
0000000000000 0000000000000000000000000000000
0000000000000 000000000(

00000000000000 PO0OOOOW(P/(1—P))=by+bX;+..bX, 00000
000X, 000000000000000X,,..X,000000000X;=00000 X;=1
0oooooooo

bl =1n(Py/(1— Py)) — In(Po/(1 — By)) = In(Py * (1 — Py)/(Py % (1 — Py)))

O00000Kw O00O00o0oooooooOOo0O0O0000o0ooooooooOoOoOoOO0OoOooooo
0000000000 9%%00000

exp(by +1.96 x SE(by))

gboooobod

O0000O0Llibrary(MASS) 000 data(birthwt) 00000 OCOOOOO

Springfield 0 Baystate 0000000 18900 0000000000000 ODODOOCOCOOO
O0000000000000O0str(pirthwt) 00000000000
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4 N
low O000000COOOO00OOODDOOOOOOO25kg00O0 10

age QOO

wt O00O0O0O0O0O000@0

race 000D0DO00O0OOOODOOODODOOOO
smoke OOOOOODOOOODO

ptl oopooooog

ht oobodooooooo

ui 000DbO0DbOobOobOobOoDbo

ftv 000DbOoDbOOoDoOoooogon

bwt 0ODOOOO (g)

00 1b.0011b.0 0454 kg00000

\_ /
( it12-9.R ~
require (MASS)
data(birthwt)
attach(birthwt)

low <- factor(low)

race <- factor(race, labels=c("white","black","other"))
ptd <- factor(ptl>0)

smoke <- (smoke>0)

ht <- (ht>0)

ui <- (ui>0)

ftv <- factor(ftv)

levels(ftv) [-(1:2)] <= "2+"

bw <- data.frame(low,age,lwt,race,smoke,ptd,ht,ui,ftv)
detach(birthwt)

summary(res <- glm(low ~ ., family=binomial, data=bw))

summary (res2 <- step(res))

N J

O0000D0O0O0OD0O0O0OO0ODsmokeTRUEODOOODOOODODOOOO 0.866582 0000 SEO
040446900 000000DOOCODOOOOOODOOOOOODOODOOODOOOOODOO
gbooboobogoboobboobbooboooobuoooboobboooboooboobo
0000000000000000 9%%00000000000000000000000000
gbobooboooboooboobbuoobobooboooboo

exp(0.866582)
exp(0.866582 - gnorm(0.975)*0.404469)
exp(0.866582 + gqnorm(0.975)*0.404469)

O00D00000237876601.07661605.255847 00000000000 0O0OOOO00O00O00O 2.38
0095%00000 [1.08,5.26) 0000000000000 DO0O0OO0OOOO0OD0OY%%0O0
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000000000 bbirthwt 00 00OD0DO0O0OO0O0OOCOOOO0O0O0OO0OOODOOOOOOOOOO
gbooobodbboobbooboobboobuoobboobboobooD fevOgoo
0000000000000 0000000000rm(1ist=1s()) DO0O0O0O0OOCOOCOOOOO
O0000000Odata(birthwt) OO0OOOOOOOOO

gobooboooboobobooboboobbooboooboobboobboooboon
googn

goboobboooobboogo

000000000 A B C D
ooooo 75,80,77 60,62,64 55,57,58 60,61,64
ooooo 77,7576 63,62,65 60,5761 58,59,61
ooooo 78,79,77 61,63,58 60,61,65 62,63,60
0O0oo0oooo 80,81,76 65,64,62 61,62,60 64,63,61
oooo 74,7375 61,58,59 64,5859 65,62,64

goobo4000000D00O0C0O0DOOUOCOOODODOODOCOUOOD 300O0ODOOO
gogodoooooooboboobobobobbbbodoooooooLoL DO
gooboobogoboobboobbooboooobuooobooboooboooboobo
goooobogoobooboboobooon
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